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Question Number : 1 Question Id : 630680637505 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following device is a simple heat exchanger in which heat is removed from the air after it has been compressed and its
temperature has risen as a result of compression?

Options :

1. ¥ Economiser

2. % Blow-down cock
3. % Intercooler

4. % Superheater

Question Number : 1 Question Id : 630680637505 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® W(Economiser)

2. % -39 Blb (Blow-down cock)
3. ¢ 3B R (Intercooler)

4. % JURBICR (Superheater)

Question Number : 2 Question Id : 630680637507 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Regarding centrifugal air compressor, which of the following efficiency may be defined as the ratio of isentropic temperature rise to actual
temperature rise?

Options :

1. % Mechanical efficiency
2. % Volumetric efficiency
3. ¥ Polytropic efficiency

4. ¥ Tsentropic efficiency

Question Number : 2 Question Id : 630680637507 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3gdat ag WUls® & Hay , Fofafad o ¥ fd g&rd & 9a<iUe diYdH gia & aRaidd diudH Jig d 3uid & 9 §
ORI foba S Favelt &2

Options :

1. % it qafdl

2. % 3{TACH! Gardl

3. % TldlIgiueD Gafdl

4.« GHTIUS Gafdl

Question Number : 3 Question Id : 630680637519 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2z
In the Bernoulli’s equation L e + Z = Constant, which of the following is the ‘potential head’?
PE g
Options :
p

l.ﬁﬁ

Question Number : 3 Question Id : 630680637519 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



ﬁﬁﬁmi+g+z = T 7, P=afef@a & ¥ #ta-ar Fwes 'Feg ¥ (potential head)' 272

Options :
p

Question Number : 4 Question Id : 630680637504 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The function of which of the following boiler accessories is to recover some of the heat carried away in the flue gases up the chimney and
utilize for heating the feed water to the boiler?

Options :

1. ¥ Economiser
2. % Superheater
3. % Injector

4. % Air preheater

Question Number : 4 Question Id : 630680637504 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafeed o Q fra sTaer Teas) &1 B fomeit e U T o o SIS 778 $o ST bl GAUTE bRl 3R STaeR o THROT ST bl
T PR & 1T SuNT AT 82

Options :

1.9 sﬁ:hmsﬁﬁ (Economiser)

2. ® W (Superheater)

3. % 3GR (Injector)

4. % TR iglex (Air preheater)

Question Number : 5 Question Id : 630680637541 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the boiler accessory not the boiler mounting?
Options :

1. # Pressure gauge

2. % Blow-down cock

3. ¥ Fusible plug

4. % Air preheater

Question Number : 5 Question Id : 630680637541 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FraeR & MEfafed § 9 o Ig/ae IUSRU &I SIgaR TR g1 O Sfrdl 62
Options :

1. % URR TS (Pressure gauge)



2. # SAI-ST3 Bib (Blow-down cock)

3. ® TYIEd W (Fusible plug)
4. ¢ TR WIGIER (Air preheater)

Question Number : 6 Question Id : 630680637502 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct regarding the fire tube and water tube boilers?

I. Raising of steam is more rapid in water tube boiler than fire tube boiler.
II. Floor area required per kg of steam is more in water tube boiler than fire tube boiler.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 6 Question Id : 630680637502 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR & 3R diex &d aaeR & Jaie B Fgffad o 9 o19-91 s w6l 82

1. BRR &JF S1AeR &1 gaT § dieR o S1aeR § aT &7 9T 31 doit 3 gl |

I1. TR & S1eR &I gaT | dlex &g aiaeR 3 Ufd ke a8 & AT Siawges aa & i grar gl
Options :

.Y FHadl

2. % Had I

3. % [ 3R Al

4. % A ARAL N

Question Number : 7 Question Id : 630680637503 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mae

QFP

Which of the following boiler's arrangement is shown in the above figure?

Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :

1. Velox boiler

2. Benson boiler

3. Schmidt-Hartmann boiler

4. Once-through boiler



Question Number : 7 Question Id : 630680637503 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e

QFP

Flue gas = & Hes)
IRiFd e 7 Tl # ¥ 5w sioer e &t geiar g7
Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :

1. AT STTER (Velox boiler)

2. S SR (Benson boiler)

3. [ grénT IraeR (Schmidt-Hartmann boiler)

4, W—%LEIVTCIFIT (Once-through boiler)

Question Number : 8 Question Id : 630680637478 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following assumptions made in ‘Euler’s column theory’ is correct?

1. The column is initially perfectly straight, and the load is applied axially.
II. The cross section of the column is uniform throughout its length.

Options :

1. ¥ Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 8 Question Id : 630680637478 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR & WY Rrgid (column theory)' & SR fafafed & @ eF-3t sifiuron ug g2

L &Y URY H fyepd Wt g g, 3R YR &1 3iefig w0 J vgad far orar 2|
1. TH BT IR UR=Se, 38! I3 ofaTs § T g giar gl

Options :

1. % Had

2. % B I

3. ¢ 13R 11 gHl

4. % TATMRAG

Question Number : 9 Question Id : 630680637479 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the thickness of the wall of the cylindrical vessel is less than of its internal diameter, the cylindrical vessel is known as a 'thin
cylinder'.
Options :

2.¢ 15 20

Question Number : 9 Question Id : 630680637479 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
u%églﬂwaﬁqﬁaﬁawaﬁnﬁa%m&mm% Y HY 8, A dTIHR o B 'IdaT fAfTS (thin cylinder) H8T
SIGLIE

Options :
1 # 7
1. % 50 60

rd |
bau
| =

Lo
beu B
| =

Question Number : 10 Question Id : 630680637490 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the P-V diagram of Carnot engine cycle, which of the following process is NOT involved?
Options :

1. ¥ Isothermal expansion

2. % Isothermal compression

3. ¥ Adiabatic expansion

4. % Isobaric compression

Question Number : 10 Question Id : 630680637490 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B! SO Iob P P-V 3G H, Fufeiad & 9 1H-91 vy 2nfie 18 o2
Options :

1. ¥ GHATG TR

2. % FHAM JuieA

3. % TG YER

4. ¥ gHETS! §Uts



Question Number : 11 Question Id : 630680637518 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'Continuity equation' of the compressible flow is based on which of the following principle?
Options :

1. ¥ Conservation of enthalpy

2. % Conservation of mass

3. ¥ Conservation of momentum

4. % Conservation of entropy

Question Number : 11 Question Id : 630680637518 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hdited yaTg &1 Hidd g0 Fafafed # ¥ fg Rigia w snerfa 32
Options :

1. % T TRer

2. ¢ SOH TR

3. % HoT TREUT

4. % TCTOT EREOT

Question Number : 12 Question Id : 630680637529 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cutting tools, used in the lathe, develop the property of due to addition of tungsten and molybdenum to high carbon steel.
Options :

1. % red-hardness

2. # green-hardness

3. ¥ black-hardness

4. % grey-hardness

Question Number : 12 Question Id : 630680637529 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WIS T Tad Hdl- IUBRUN H, I HIe T H SR SR Alferes 1 & MY F SR FHI o grar gl
Options :

1. ¢ & W HoRdl (red-hardness)

2. % BRJ PSRAT (green-hardness)

3. % W—m (black-hardness)

4 % W—m (grey-hardness)

Question Number : 13 Question Id : 630680637536 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the approximate percentage of carbon in dead mild steel?
Options :

1. ¥ Below 0.15%

2. ¥ Between 0.50% and 0.75%

3. ¥ Between 0.80% and 0.95%

4. % Above 1 %

Question Number : 13 Question Id : 630680637536 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

quigd Gg ST (dead mild steel) & BT BT UARd TTHT fba1 g 82
Options :

1. ¥ 0.15% 9 &9

2. % 0.50% 3MR 0.75% & &4

3. % 0.80% 3T 0.95% & oiF

4. % 1% 3 YR

Question Number : 14 Question Id : 630680637494 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the diesel cycle, the ratio of 'volume at cut-off' to the 'clearance volume' is termed as
Options :

1. ® compression ratio

2. % cut-off ratio

3. # load factor

4. % coefficient of performance

Question Number : 14 Question Id : 630680637494 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S T B, -3 TR 3T P "3BT AT J U B CHEIGIE]
Options :

1. % e Ut

2. ¢ HC-3[0 T

3. % YRIUIH

4. % fsaTeH Ui

Question Number : 15 Question Id : 630680637495 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct regarding the comparison between diesel cycle and Otto cycle?

1. The equation for efficiency of diesel cycle is exactly the same as that of Otto cycle.
II. For a given compression ratio, the Otto cycle is more efficient.

Options :

1. % Only I

2.¢ Only II

3. ¥ BothIandII
4. ® Neither I nor II

Question Number : 15 Question Id : 630680637495 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I T1h 3R 31 Ih & o a1 & Taiy H Fofafed o ¥ o1 HYF a8 82

1. SIS 95 BT &l THIHRUT, SHIST Th P G&f THIHRU & e d THH g
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Options :

1. % $Had 1

2. Had 11

3. % [ 3R 11 GHT

4. % FA IR0



Question Number : 16 Question Id : 630680637535 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following operation means making a hole in a solid metal piece by using a rotating tool?
Options :

1. % Welding

2. % Grinding

3. ¥ Dirilling

4. % Annealing

Question Number : 16 Question Id : 630680637535 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i & @ feg ol o1 3ref guia Iues<ur &1 I B 3G UTd F Tohe H g BT R?
Options :

1. % afcdw

2. ® YEf&m

3. ¢ fgfeim

4. % el

Question Number : 17 Question Id : 630680637528 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the usual angle between the two cutting lips in the 'twist drill' used in the drilling operation?
Options :

1. ¥ 118°

2. % 78°

3. % 48°

4. % 18°

Question Number : 17 Question Id : 630680637528 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WWﬁWaﬁaﬁm@?%ﬁ'ﬁawm(cumng lips)$§ﬂ?fwwmm%‘?
Options :

1.9 118°

2. % 78°

3. % 48°

4. % 18°

Question Number : 18 Question Id : 630680637476 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If T = Shear stress, ¢ = Shear strain; what is the expression for the 'Modulus of Rigidity (€)' ?

Options :
Bt
L% ¢
T X
5 TXE




Question Number : 18 Question Id : 630680637476 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I T = HITIUT ITA9e, ¢ = HIWIUT AFfT B, o ‘Tear AW (0)' & U e F4r g7

Options :

P

| % ¢
X

g IXP

2. % 2
C—T
4. ¢

Question Number : 19 Question Id : 630680637481 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If E = Young's modulus of the material, g = Poisson's ratio, K = Bulk Modulus; which of the following relation among

these elastic constants is correct?
Options :

| v E=3K0-2p

6K (1-3p)

N
#
rry
I

s x E = 4K(1+2p

5K(1+p)

N
§
r
[

Question Number : 19 Question Id : 630680637481 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

& E = Jerd & T AMF, p = EE HIS, K= 3aS A ¢ a3 wearey B # {w
T FEul F F Fa-ar TE 9@ 32

Options :

L v E =3K0-2p)

« E = 6K (1-3p)



¥
o
Il

4K (14 2

¥
o
I

5K (1+p)

Question Number : 20 Question Id : 630680637491 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. . . 8 . :
Based on Clausius inequality, the cyelic integral of ?Q for a reversible cyele is always

Options :

1. ¥ equal to zero

2. % equal to infinity
3. # less than zero

4. % equal to one

Question Number : 20 Question Id : 630680637491 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FATHTT FFAT (Clausius inequality) F HTIX 9, T IFHAUNT = & &0 %Q FT THT THF,
T g 2l

Options :

1. ¥ I & SRR
2. % 3Fd & IR
3. % I HY

4. % UH P SRR

Question Number : 21 Question Id : 630680637472 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct regarding the various systems of forces?

1. The forces, whose lines of action lie on the same plane, are known as collinear forces.
II. The forces, whose lines of action lie on the same line, are known as coplanar forces.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor IT

Question Number : 21 Question Id : 630680637472 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faftrsr s Rl & ey § FEfiad & ¥ SH-91 $Y= 81 82

1. 3 59, St fhar @ ue g ad W gl 8, TG 9 Seard g |
1. 3 9, Forep! f3har ATt Tep &1 a1 R gidl &, IHA T 9o Heard o

Options :

1. % Had 1

2. % Had I

3. % [ 3R 11 gHl

4. /TN RATE 0



Question Number : 22 Question Id : 630680637520 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following device is used for measuring the rate of a flow of a fluid flowing through a pipe?
Options :

1. ¥ Venturimeter

2. % Pressure gauge

3. ¥ Hydrometer

4. % Spirit Level

Question Number : 22 Question Id : 630680637520 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I8y Y Ydlfed dval Uer & UaTg & &2 &l AT & fore fRafafaa # § feg Susur &1 Iuant fasar Sirar g2

Options :

1.« aﬂi Htex (Venturimeter)
2. % YIRS (Pressure gauge)

3.%% 33 e (Hydrometer)
4. % ff¥e Afdd (Spirit Level)

Question Number : 23 Question Id : 630680637517 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If 'V is the resultant velocity at any point in a fluid flow and u . v, w are its component in x ., y, z directions. Which

of the following expression is correct for the resultant velocity (V) ?
Options :

Lx V=Jur+vi-w?
s v V=A@ +vi+w?
s V=iur—v2—w?
L x V=yz—vi+w?

Question Number : 23 Question Id : 630680637517 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
aﬁmmﬁm%w'wqﬁmﬁraﬁ%mx, Py & amatt F u, v, w WW%I
it 397 (V) ¥ v ReefEa § ¥ Fi9-ar a9 @ 82

Options :

L% V= Ju+vi—w?
2VV=1Fu2+v2+w2
3 % V=vu?—v?—w?



4 % V=yu?—v?+w?

Question Number : 24 Question Id : 630680637514 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct regarding the types of fluid flow?

1. In Compressible flow, the density is constant for the fluid flow.
II. In Incompressible flow, the density is not constant for the fluid flow.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor IT

Question Number : 24 Question Id : 630680637514 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T U8 & UBRI & Jag H Fafafad § ¥ SH-91 Hu7 Ig1 82

1. SUtsy ydTe &, Rd T8 & o o RR 811 81

11. 3 UTsd UaTg H, TRe UaTE & forg ol fRR 78T gl 81
Options :

1. % $Had 1

2. % Had Il

3. % [ 3R 11 gHl

4. TAARATE I

Question Number : 25 Question Id : 630680637512 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
Which of the following equation shows the correct expression for Newton's law of viscosity'? (If u = Viscosity, T =

du £
Shear stress, — = Rate of shear deformation)

dy !
Options :

du
T=pH—
1. ¢ dy
) du
T=2U—
) ® dy
d?u

=H
3 % dy?
d3u

=H
4 % dy?

Question Number : 25 Question Id : 630680637512 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

f=fofla § ¥ Fia-ar g8 e & Oaar & T & v @@ e # e g7 (T p =
ATAAT, T =m¢mgﬁaﬂ,2—: = HIRUT TSw9uT Fr @)

Options :

du
=il —
1. ¢ dy
) du
T=2u—
7 ® dy
d?u

T=H
3. 8 dy?
d*u

T=H
4. % dy?

Question Number : 26 Question Id : 630680637465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following component in machines controls the speed variations caused by the fluctuation of the engine turning moment
during each cycle of operation?

Options :

1. ® Pantograph
2. ¥ Flywheel
3. # Crankshaft
4. % Gyroscope

Question Number : 26 Question Id : 630680637465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TTeH & U@ 996 & SR 301 & da-1 A0l H SAR-91d & HRUT g4 arelt T it &1 a=ii+1 & fafofed & & eF-a1 uesh
(component) fafd srarg?

Options :

1. % UIRH (Pantograph)

2. ¥ TR (Flywheel)

3. % $HHUC (Crankshaft)

4, % SIRIDIY (Gyroscope)

Question Number : 27 Question Id : 630680637522 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which property of the molding sand is the ability to allow gases, water vapor and air to pass through it?
Options :

1. ¥ Refractoriness

2. ¥ Permeability

3. ¥ Cohesiveness

4. ® Green sand strength



Question Number : 27 Question Id : 630680637522 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T a1 & far T[T 3 RN ST ATy O 1Y, S a1 3R a1g UdTied &l b &2
Options :

1. % 3{JdR0rdl

2. % URITEdl

3. % HIoIhd

4. % gRA a1 I

Question Number : 28 Question Id : 630680637523 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the match plate pattern, bottom side of match plate pattern is used for making the bottom half of the mould impression in one moulding
box, known as the

Options :
1. # slip

2. % cope
3. % drag
4. % pitch

Question Number : 28 Question Id : 630680637523 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ﬁﬂ@?ﬁﬁﬁ,ﬁﬂ@?ﬁﬁ%ﬁﬂﬁ%@(bottom side)WWWWWﬁ%%%WW%%@(bottomhalﬂ
P T & fore fopar Srar 8, oy FTUH AAT S8

Options :

1. ® W(slip)

2. % aﬂ'q(cope)

3. ¢ 371 (drag)

4. % fUH (pitch)

Question Number : 29 Question Id : 630680637474 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If F = Limiting friction, and R = Normal reaction between the two bodies; what is the coefficient of friction () ?
Options :

®# #=FXR

Question Number : 29 Question Id : 630680637474 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ofg F = e w¥or, 3R R = @ RiEt & @9 sfdew sfafesar & ovor oo (0) fraer 82



Options :

Question Number : 30 Question Id : 630680637468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The gears having velocity are termed as high velocity gears.
Options :

1. # less than 3 m/s

2. % between 3 and 9 m/s

3. ¥ between 9 and 12 m/s

4. % more than 15 m/s

Question Number : 30 Question Id : 630680637468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
_%éﬂaﬁﬁmﬁﬁaﬂ?ﬂﬁﬁm (high velocity gears) FHET a8l
Options :

1. % 3m/sTHH

2. %33R 9m/s B AT

3. % 9 3R 12m/s b &

4.v 15 m/s Y 31D

Question Number : 31 Question Id : 630680637469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following term in gears is defined as the curve formed by the face and flank of the tooth?
Options :

1. ¥ Module

2. % Backlash

3. ¥ Profile

4. % Tooth space

Question Number : 31 Question Id : 630680637469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafafed o 9 forg rsg &Y R T ST (tooth) F B (face) 3R T (flank) T T4 I & =9 § gRyIYT foar mar g2

Options :

1. % OIS (Module)
2. % SHAY (Backlash)

3. ¥ UIBTSd (Profile)

4. % TY WY (Tooth space)



Question Number : 32 Question Id : 630680637470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The function of which of the following component (in machine) is to regulate the mean speed of an engine, when there are variations in
the load?

Options :

1. % Ball bearing
2. % Governor
3. ¥ Gyroscope

4. % Compressor

Question Number : 32 Question Id : 630680637470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafrfaa § 3§ frg gee @=iF ) &1 o1, dis o frwar 817 R 51 o1 3id 7ifd &1 fafid e ge
Options :

1. % §fd s (Ball bearing)

2. ¥ IR (Governor)

3. % SIERGY (Gyroscope)

4. % HYIR (Compressor)

Question Number : 33 Question Id : 630680637471 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a rotating machine element that gives reciprocating or oscillating motion to another element known as follower?
Options :

1. % Cam

2. % Cog

3. % Clutch

4. % Compressor

Question Number : 33 Question Id : 630680637471 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ﬁaﬁ%@aﬁﬁaﬁmﬁmmﬂququﬁwéﬁﬁmw (follower) TH® TP 3= 3HdTd ! YANTH! IT e 1 U&=
CRGINH

Options :

1. ¢ & (Cam)

2. % BT (Cog)

3. % e (Clutch)

4. % HUW (Compressor)

Question Number : 34 Question Id : 630680637531 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the grinding process, the cylindrical surfaces are ground in which the workpiece is not supported between the centres or
chucks, but by a blade?

Options :

1. ® Surface grinding

2. % Cylindrical grinding
3. # Creep feed grinding
4. % Centreless grinding



Question Number : 34 Question Id : 630680637531 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g gwor ushH (grinding process) =4 W@ﬁaﬁa%w%ﬁ%ﬁ%aﬁﬁmaﬁ%aﬂaﬁ, Sfeh S gRI
SfTafed faar ST g2

Options :

1. % qgﬁrGIUT (Surface grinding)

2. % SOAIHR Uy (Cylindrical grinding)

3. % I HIS U (Creep feed grinding)

4. ¥ HEEH UuT (Centreless grinding)

Question Number : 35 Question Id : 630680637521 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following are the main parts of a centrifugal pump?

I. Impeller
II. Suction pipe
III. Delivery pipe

Options :

1. % OnlyIandII
2. % Only II and 111
3. % Only I and III
4. % 1, Il and 11T

Question Number : 35 Question Id : 630680637521 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faferiaa § Q -9, 3ddhe U9 & G-I U (part) &2
L ETaFlT (Impeller)

I1. R UIFY (Suction pipe)
1. feferast urgy (Delivery pipe)
Options :

1. % Had AR

2. % Had 11 3R 111

3. % $Had 1 3R 11

4. ¥ 111 3R 111

Question Number : 36 Question Id : 630680637501 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In S.I engine, the phenomenon of 'detonation' is also called
Options :

1. # expansion

2. % suction

3. % knocking

4. ® exhaustion

Question Number : 36 Question Id : 630680637501 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SI 35 H, '31fRRWIEH (detonation) H TREEH Bl Wt BT ST |

Options :



1. ¥ TR (expansion)

2. % YU (suction)

3.+ 3UTDIC (knocking)
4. % 33T (exhaustion)

Question Number : 37 Question Id : 630680637500 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct regarding the cooling system of an I.C engine?

I. The indirect cooling system uses natural circulation or forced circulation of water.
II. The indirect cooling system with forced circulation of water is mostly used in large and medium sized units.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 37 Question Id : 630680637500 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1C 35 Pt fide yurelt & Jay H fafafad § ¥ SH-91 HuT 981 82

L. 3ve e Yurelt § Ui fae a1 qonfed Se uRE=eRor o7 SuanT fasar Siar g |
11 JUifed STad UReRoT aTeft 3rrcrer Rfider Tomelt T SUTNT fUdhdR 931 3R HegH 3MTHR Fi 3h1eal § fHa1 Srar g

Options :

1. % Had [

2. % HadII

3. ¢ 13R 11 gHl

4. % FA MRS 0

Question Number : 38 Question Id : 630680637498 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following efficiency is defined as the volume flow rate of air into the intake system divided by the rate at which the volume
is displaced by the system?

Options :

1. # Indicated thermal efficiency
2. % Brake thermal efficiency

3. ¥ Volumetric efficiency

4. % Mechanical efficiency

Question Number : 38 Question Id : 630680637498 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3T AT (intake system) H EaT B AT YATE <R DT BT GRT A faRIToH o | fauiforg &=a iR o I &Y
fFafafed o 9 fora gerdt & = & aRyid fosar mar g2

Options :

1. % giord S Gardl
2. % 8% WG gerdr
3. ¢ ST g&rl

4. % TS qerar



Question Number : 39 Question Id : 630680637499 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IC engines are rated in terms of
Options :

1. # form factor

2. % cut-off ratio

3. ¥ module

4. % brake horse power

Question Number : 39 Question Id : 630680637499 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ic3S® Huey A e o gl
Options :

1. # Y IUID (form factor)

2. % He-3h S{JUId (cut-off ratio)

3. ® AU (module)

4. ¥ §% 3y Xfad (brake horse power)

Question Number : 40 Question Id : 630680637538 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In CGS units, Kinematic Viscosity is also expressed as which of the following unit?
Options :

1. ¥ Newton

2. # Weber

3. ¥ Stoke

4. ® Candela

Question Number : 40 Question Id : 630680637538 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CGS AE®! H, YT Tl & FHufeiad & @ g Ae & &0 +ft sgad fovar srar g2
Options :

1. ¥ I (Newton)

2. % R (Weber)

3. ¢ WP (Stoke)

4. % Hadr (Candela)

Question Number : 41 Question Id : 630680637532 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following operation is usually NOT carried out on lathe machine?
Options :

1. # Turning

2. % Facing

3. % Parting

4. ¥ Welding

Question Number : 41 Question Id : 630680637532 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



fFafafed 9 eF-a1 orf Ima: Ay 7=iE R T8 i o 82
Options :

1. % WG (Turning)

2. % Tl (Facing)

3. % YD (Parting)

4. ¥ IS (Welding)

Question Number : 42 Question Id : 630680637533 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following operation means enlarging an existing hole?
Options :

1. ¢ Boring

2. # Grinding

3. # Soldering

4. ® Brazing

Question Number : 42 Question Id : 630680637533 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o o 2 foa orf 8 ANer g o) se1 fear s g2
Options :

1. ¢ SR

2. % YEfET

3. % Hiesha

4. % ST

Question Number : 43 Question Id : 630680637473 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 'm' = Mass of a body, 'a’ = Constant acceleration, 'F' = Force required to change velocities, then the below given
relationship is expressed by which of the following laws?

Focma

Options :

1. % Newton first law of motion

2. % Newton second law of motion

3. ¥ Newton third law of motion

4. ®% Newton gravitational law

Question Number : 43 Question Id : 630680637473 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I 'm' = RNT F7 gewAA, 'a' = FIEdr &R0n, 'F = 997 9iEad & oI e §of g, ar A= fea
T wey faeofaa # ¥ e Bos anr e e o @2

F o« ma

Options :

1. % g B 7fd &1 uge gy

2. ¢ A B T BT g1 Fad

3. % A BT BT AR 49

4. % YT BT TobYU HIH



Question Number : 44 Question Id : 630680637488 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"It is impossible to construct an engine, which while operating in a cycle produces no other effect except to extract heat from a single
reservoir and do equivalent amount of work.” Which of the following law is related to this statement?

Options :

1. # Third law of thermodynamics
2. % Kepler's second Law

3. ¥ Zeroth law of thermodynamics

4. ¥ Second law of thermodynamics

Question Number : 44 Question Id : 630680637488 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"U  BT FHT0 IRAT 3YT &, S TH ah § T Hd 980 TP $8 9§ &1 Nl i SR THH A6 § S v &
SHTAT DI 3T THIT I e bRl ¢ " FAufaRad & & SH-31 Faw 39 Hy= 3 Iefird g2

Options :

1. ¥ SUFTdD! BT T |

2. % PR BT o’ Agm

3. % SEARTdD! &1 YA Dife a9

4. ¢ SEANTTAD! T GRT FaH

Question Number : 45 Question Id : 630680637489 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
'Steady flow energy equation' is applicable in which of the following devices?

1. Water Turbine
II. Centrifugal Water Pump
III. Centrifugal Compressor

Options :

1. % Only Iand II
2. % Only II and 11
3. % Only I and 111
4. % 1, I and 111

Question Number : 45 Question Id : 630680637489 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"3RG UaTg SHort gt fRgfeiad & § farg Suewsor o wgad gidr 82

1. ol SRl

I1. 3T g ofd Ua

111 30dhs) hedh
Options :

1. % ISR

2. % P 11 3R 11
3. % Hhad [ 3R 11

4. ¥ 1,11 3R 11

Question Number : 46 Question Id : 630680637462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

“For a four-bar mechanism, the sum of the shortest and longest link lengths should not be greater than the sum of the remaining two link
lengths.”



Which of the following law associated with this statement?
Options :

1. ¥ Fick's law

2. % Lenz's law

3. % Grashof’s law

4. ¥ Biot-Savart law

Question Number : 46 Question Id : 630680637462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"U%T-Wﬁa?—ﬁm(four-bar mechanism) aﬂ%ﬂ, RER I ﬁwa@mﬁmﬁw, é’r&a‘r%aﬁm@%
AN Y S ol g1 A"

FrafoRed # @ -9 a0 39 o3 9 defia 32
Options :

1. % fihep &1 999 (Fick's law)

2. % o= &1 e (Lenz's law)

3. U= &1 faq (Grashof’s law)

4. % FRA-YaC fA9H (Biot-Savart law)

Question Number : 47 Question Id : 630680637463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The method of obtaining different mechanisms by fixing different links in a kinematic chain, is known as of the mechanism.
Options :

1. ¥ inversion

2. # equilibrium

3. ¥ consistency

4. % rigidness

Question Number : 47 Question Id : 630680637463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

W PReL]| 7 fafts foie &1 fihe b fafia damaaht (mechanisms) Ut HA DI [af B dATaaH (mechanisms) &H/DT
F FYH TS5 |

Options :

1. ¢ gfaaed (inversion)

2. ® I (equilibrium)

3. ® YITAdT (consistency)

4. % HERAT (rigidness)

Question Number : 48 Question Id : 630680637526 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the manufacturing technology, 'Down Milling' process is also called process.
Options :

1. % reaming

2. # up milling

3. % climb milling

4. # conventional milling



Question Number : 48 Question Id : 630680637526 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafator Menfie) o, S8 AfRAT (Down Milling) TFH B UhH M HeT ST |
Options :

1. % JfHT (reaming)

2. % 39 AT (up milling)

3. ¢ FATed T (climb milling)

4. % HaxHA AT (conventional milling)

Question Number : 49 Question Id : 630680637527 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Peripheral milling is adopted for which of the following machining operations?

I. Slab milling to produce flat surfaces.
II. Form milling to produce prismatic shape of any form, e.g., involute form in gear cutting.

Options :

1. # Only I

2. % Only II

3. ¥ Both I and IT
4. % Neither I nor II

Question Number : 49 Question Id : 630680637527 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frofoied 7 ¥ forg 7= yares & forg ufta fafeT (peripheral milling) I ST STl %?

L. guTe gy fAmfor & forg wie fafer |

11. forslt oft =0 B et snepfa daR & & e wid ffer, Serexur & fo, iR wfén § siqdferd =l
Options :

1. % Had 1

2. % Had Il

3. ¢ 1 3R 11 GHl

4. % TAMRAT

Question Number : 50 Question Id : 630680637510 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In steam nozzle, a part of the enthalpy of steam is converted into as the steam expands from a higher pressure to a lower pressure.
Options :

1. # solar energy

2. ® chemical energy

3. % nuclear energy

4. % Xinetic energy

Question Number : 50 Question Id : 630680637510 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

W AIod #, 9T $ I <19 ¥ 9 <19 § JHIRd 81 & 91 9T 1 TR 31 T HI, # uRafia g1 ST 5 |
Options :

1. % R Sull

2. % IRAAS SHoll

3. % AP Hell



4. « TIforet Soif

Question Number : 51 Question Id : 630680637492 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'Otto cycle' is based on which of the following process?
Options :

1. ¥ Constant pressure

2. ¥ Constant volume

3. # Constant temperature

4. % Both constant pressure and constant temperature

Question Number : 51 Question Id : 630680637492 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3ite) o el § § forg wepm WR Simenfed g2
Options :

1. % 3ORadl g

2. ARG M

3. % SuRadl argaH

4. % 3ORadl €19 3R SraRadf aTom gt

Question Number : 52 Question Id : 630680637542 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For which of the following specific fuel in IC engine, the ideal cycle is NOT the 'Otto cycle'?
Options :

1. ¢ Diesel

2. % Petrol

3. ¥ Coal gas

4. % Producer gas

Question Number : 52 Question Id : 630680637542 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1C 39 & FaforRad & @ forw fafkiy S & for, smext o siiet o =18 52
Options :

1. ¢ Sietel

2. % Ui

3. % HIgaAr g

4. % YSgR

Question Number : 53 Question Id : 630680637466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Light belt drives’ are used to transmit small powers at belt speeds
Options :

1. ¥ up to about 10 m/s

2. % over 10 m/s but up to 22 m/s

3. % over 22 m/s but up to 30 m/s

4. ® over 30 m/s but up to 40 m/s



Question Number : 53 Question Id : 630680637466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TATZE dec SET BT ITANT i dee T IR HH faaal b R $HA & forg fwar san 31
Options :

1. % TIHIT 10 m/s db

2. % 10 m/s § AP A 22 m/s TH

3. % 22 m/s W YD Afb 30 m/s Ib

4. % 30 m/s § YD A 40 m/s Tb

Question Number : 54 Question Id : 630680637515 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following device is used for measuring the pressure at a point in a fluid?
Options :

1. ¥ Galvanometer

2. % Ammeter

3. ¥ Manometer

4. ¥ Hydrometer

Question Number : 54 Question Id : 630680637515 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foreht ara uerd # freht fofg W are Ao & o Fafefaa & @ forw Suasor &1 Juai fasar ST 82
Options :

1. % TedHeR (Galvanometer)
2. % UHICR (Ammeter)
3. ¢ iR (Manometer)

4. %37 33 Hiex (Hydrometer)

Question Number : 55 Question Id : 630680637480 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If p = Internal pressure of fluid, d = Internal diameter of the cylinder, ¢ = Thickness of the wall of the cylinder,

¢ = Hoop stress in the material; which of the following is the correct expression for the Hoop stress?

Options :
__(@ay’
1 ® 2t
td
o
2 8 Zp
Pt
;% 77 2d
_rd
s 2t

Question Number : 55 Question Id : 630680637480 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
I p = A F HANF a9, d = AT #1 3mafe =ow, ¢ = AfET $r ar #r A, 0 = 9@
# gfefm gfaee & af ofedfo gfaee & e TaeRa 7 o #ia-ar e 3@ o=+ 27

Options :

Jz(Pd)z

1 ® 2t
td

JF=—

9 ® 2p
T

;% 77 2d
_pd
4 2t

Question Number : 56 Question Id : 630680637543 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following property of a system is an 'extensive property'?
Options :

1. % Pressure

2. % Density

3. % Temperature

4. ¥ Weight

Question Number : 56 Question Id : 630680637543 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tt Fepra o1 Fraferiad # @ si-ar qured te fawart qored 82
Options :

1. % qld

2. % Ydd

3. % dI9HA

4. ¥ HR

Question Number : 57 Question Id : 630680637484 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The temperature at which takes place at a given pressure is called the saturation temperature and the given pressure is called the
saturation pressure.

Options :

1. ¥ melting

2. # freezing

3. ¥ golidification

4. % vaporization

Question Number : 57 Question Id : 630680637484 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



fordt faw 7U gre W R aromE W) B, I UG ITIHH el oIl § 3R 3T T 16 o1 At a1d wel ol g |
Options :
1. % T
2. % fgu
3. % fieq
4. ¢ A

Question Number : 58 Question Id : 630680637482 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following are the examples of 'Pure Substance'?

1. Mixture of liquid water and steam
II. Mixture of ice and water
III. Mixture of liquid air and gaseous air

Options :

1. % Only I and II
2. % Only II and 111
3. % Only I and 111
4. % 1 1l and I

Question Number : 58 Question Id : 630680637482 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frafafed & 9 o1F-91 IS vard o1 3qeR0 82

L. &d O 3R 7T T fiysyor

1. % 3R ST b fHreyor

111. 54 a1g 3R 1T arg &7 fiygyor
Options :

1.« Had [ 3R 11

2. % I I1 3R 111

3. % Had [ 3R 111

4. % 111 3R 11

Question Number : 59 Question Id : 630680637497 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

r

¥

Which of the following diagram of ‘Rankine cycle” is shown in the above figure?
Options :

1. # p-v diagram

2. % T-s diagram

3. ¥ h-s diagram

4. ¥ p-h diagram



Question Number : 59 Question Id : 630680637497 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

r

17

.
#

R e # es o 7 Tl & ¥ Fis-ar s3my s mr 2
Options :

1. % py 3G

2. ¥ Tos 3E

3. % h-s 3RW

4. % ph 3G

Question Number : 60 Question Id : 630680637509 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Vapor compression refrigeration system has which of the following components?

1. Compressor
II. Condenser
III. Evaporator

Options :

1. ¥ Only I and II
2. % Only II and 111
3. % Only I and I
4. % [, 1l and I

Question Number : 60 Question Id : 630680637509 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g It y=ita yomelt & FRgfored # @ #1991 g giar g2

L. HUIR (Compressor)

II. FaaR (Condenser)
III. s%q‘lia (Evaporator)
Options :

1. % HaA 13RI

2. % %I 11 3R 11

3. % $Had 1 3R 111

4. 1,11 3R 111

Question Number : 61 Question Id : 630680637530 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mechanism of which of the following tool is called 'slotted lever quick return’ mechanism?
Options :

1. % Twist drill



2. ¥ Shaper
3. ¥ Mallet
4. % Hacksaw

Question Number : 61 Question Id : 630680637530 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e & & 5 Iua 3t FaTaeh 3 wiies o e Ret darach Her w82
Options :

1. % g% fga (Twist drill)

2. ¢ AW (Shaper)

3. % TAC (Mallet)

4, ® %W(Hacksaw)

Question Number : 62 Question Id : 630680637511 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is correct regarding the impulse and reaction turbine?

1. Blade efficiency is less in impulse turbine than in reaction turbine.
II. Impulse turbine develops higher power than reaction turbine.

Options :

1. Only I

2. % Only IT

3. % BothIand II
4. ® Neither I nor II

Question Number : 62 Question Id : 630680637511 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3TaTT 3R ufaferar exarsT & ey A Hufafad § § SH-91 $y= 981 82

1. Ufafoha eRaT3 1 gaT § SM1a7 erae 8 IS g&fdl 3 giat g |
11 Tfehan exaTgA &t o H ST erarz S1fies Wfad fasRid axar gl

Options :

1. ¥ Had |

2. % FHad Il

3. % [ 3R gHl

4. % TA MR I

Question Number : 63 Question Id : 630680637544 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The unit of stress expressed as “MPa’ has gained wide acceptance. How many ‘MPa’ are there in ‘1 GPa’?
Options :

1. ®¥ 10

2. %100

3. %1000

4. % 10000

Question Number : 63 Question Id : 630680637544 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MPa' & ¥ H oad Ufded & AR &) U Wihid U §1'1 GPa' H fba 'MPa' 81d 82



Options :
1. %10

2. %100
3. % 1000
4. % 10000

Question Number : 64 Question Id : 630680637475 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following law states that when a material is loaded within elastic limit, the stress is proportional to the strain produced by the
stress?

Options :

1. # Lenz's law

2. ® Fick's law

3. % Hooke's law

4. ® Kepler's first law

Question Number : 64 Question Id : 630680637475 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ﬁﬁﬁ%gigqﬁm$aﬁmﬁm%ﬁmM$m@wmﬁm$mﬂmﬁﬁmam%ﬁm%mmﬁmﬁmwﬁ@%k

Options :

1. % o &1 fAom (Lenz's law)

2. % i &1 999 (Fick's law)

3.¢ WW?‘PTH (Hooke's law)

4, % PR B YYH 97 (Kepler's first law)

Question Number : 65 Question Id : 630680637534 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If D = Larger diameter, d = Smaller diameter, L = Length of the job (cone); what will be the correct expression for

taper half angle (@) of the job?

Options :
. D-d
| % Sina = ET
. D+d
) % Sina = oL
: D+d
and =—
3. % 2L
; _D=d
"y ana = o1

Question Number : 65 Question Id : 630680637534 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A D = JFeeR AW, d = FYR AW, L = Fa (o) $ oo & & i F =R 3T F07 (o) F
T 58 === F=4r g@emn?

Options :
. _D—d
L% Fsina = &Y
. D+d
sma =——
0 ® 2L
; _D—J—d
- ane =—7
; _D—d
"y ana = o1

Question Number : 66 Question Id : 630680637487 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If ) = Heat transfer from cold reservoir, and W = The net work transfer to the refrigerator; what is the co-efficient of
performance (C.O.P).¢?

Options :
1% Q x W
Qo

2.v W
sx Q=W
48 Q+ W

Question Number : 66 Question Id : 630680637487 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IE @ = fiae F3 F F5AT WL, IR W = wfidw # Y F RO g; A frsae= qones
(C.O.P.)ref Toraem &2

Options :
L

2. v W

3% Q-W



Question Number : 67 Question Id : 630680637477 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If T = Torque, | = Polar moment of inertia, C = Modulus of rigidity, # = Angle of twist, L. = Length of the shaft; which

of the following is the correct torsional equation?

Options :
T_CH'
Lel L
T_CH
2. 8 L j
T_LH
333] C
T_Cj'
4% L 8

Question Number : 67 Question Id : 630680637477 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A T = Somadh, | = g9 FEea AT, € = TEAT HUh, 6 = S Hon, L = e F org §; A
T=fo@a # o Fia-ar TweT @ar JAE 0T (torsional equation) &7

Options :
T_CE?
vl L
T_CE?
2. ® L j
T_LH
333] C
T (]
4% L 8

Question Number : 68 Question Id : 630680637524 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'Tailstock' is provided at which of the following place in a lathe machine?
Options :

1. ¥ At the left-hand end above the bed

2. ¥ At the right-hand end above the bed

3. % At the middle of the bed

4. ¥ At the left-hand end below the bed



Question Number : 68 Question Id : 630680637524 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WR1E A # Fgfefead § @ fg ®iM IR 2eRei® (Tailstock) TS faa STra 82
Options :

1. % 98 F FWINBR W

2. ¥ I8 H FW AL BR W

3. % Se P dEH

4, % SSH AL IMBRW

Question Number : 69 Question Id : 630680637525 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following operation means production of a conical surface by gradual reduction in diameter as we proceed along the length
of the cylinder?

Options :

1. ¥ Drilling

2. # Boring

3. #¥ Knurling

4. % Taper Turning

Question Number : 69 Question Id : 630680637525 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafad & ¥ frg rarem & Rifdier IR dars 8 oif ava gu, e & shild S gRT Us ASHIHR YF &1 fafor fasan simar g2
Options :

1. % fSfelT (Drilling)

2. % §INIT (Boring)

3. % R (Knurling)

4, ¢ TR T (Taper Turning)

Question Number : 70 Question Id : 630680637516 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the Reynold number is , it is called 'turbulent flow'.
Options :

1. ¥ less than 2000

2. % in between 2000 to 2700

3. % in between 3000 to 3500

4. % more than 4000

Question Number : 70 Question Id : 630680637516 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IRFEE I 7, A T W YaTE YT T 3|
Options :

1. % 2000 4 HH

2. % 2000 9 2700 & S

3. % 3000 ¥ 3500 & ST

4. ¥ 4000 9 3feH



Section B

Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 71 Question Id : 630680634297 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate article:

The cat chased the mouse across room.
Options :

1. % a

2. % an

3. ¥ the

4. ¥ no article

Question Number : 71 Question Id : 630680634297 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate article:

The cat chased the mouse across room.
Options :

1. % a

2. % an

3. ¥ the

4. ¥ no article

Question Number : 72 Question Id : 630680634304 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate adjective:

She admired  artwork and acknowledged his talent in public.
Options :

1. # yours

2. % his

3. % our

4. % my

Question Number : 72 Question Id : 630680634304 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate adjective:

She admired _ artwork and acknowledged his talent in public.
Options :

1. # yours

2. % his

3. % our

4. % my



Question Number : 73 Question Id : 630680634306 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the synonym for the word “agitated” in the sentence given below:

I was agitated when my wife didn’t pick up the phone, but it turned out she just fell asleep watching a movie.
Note: For this question, discrepancy is found in question/answer.
Full Marks 1s being awarded to all candidates.

Options :
1. worried
2. flustered
3. confused
4. anxious

Question Number : 73 Question Id : 630680634306 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the synonym for the word “agitated” in the sentence given below:

I was agitated when my wife didn’t pick up the phone, but it turned out she just fell asleep watching a movie.

Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :

1. worried

2. flustered

3. confused

4. anxious

Question Number : 74 Question Id : 630680634317 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafafad vy §, TR fawe 7 ¥, 39 fased &1 99+ &3 i fou 7u Rad =M & e 98t R arar fasea g1
3= W@ RISl GoI§ IR GNT BT AMRY

Options :

1. % B

2.% Y

3.% 7

4. v & forg

Question Number : 74 Question Id : 630680634317 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafad vy o, TR fawe # ¥, 39 fased &1 99+ &3 1 fou 7u Rad =M & e 98t R arar fasea g1
3w WY RIS g I3HR AN H=A1 AMRY|

Options :

1. % @l

2.% Y

3.8y

4. ¢ o

Question Number : 75 Question Id : 630680634326 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Foffed vy &, 9R fasedl # 9, 39 fased &1 991 &< Sl QU U Wea & faelH eg H1 [Ihed g
SR

Options :

1. ¢ 201d

2. % 9=

3. % T

4. % dd

Question Number : 75 Question Id : 630680634326 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafiiad uy ¥, IR fawedl & 9, I faded 1 907 Y S AT T Weg & fadm weg #1 fadeu 3|
SR

Options :

1. ¢ id

2. % dig

3. % T

4. % DA

Question Number : 76 Question Id : 630680634347 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

became the youngest Indian to win a medal at the Asian Games after she won the bronze in the women's speed
skating 3000m relay event

Options :

1. # Jaggy Shivdasani

2. ¥ Sanjana Bathula

3. ¥ David Beckham Elkatohchoongo
4. % Jyothi Surekha Vennam

Question Number : 76 Question Id : 630680634347 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tigamsf ®T Wi WeieT 3000 m Rl Wl § B Ug® siiad & dg, TR Wdl H Uge siia- aret Jod HH 3
B URII T TR |

Options :

1. % S fRIaGrT

2. & oA 9YT

3. % SfdS I%HeH Temrcigdi

4. % SO ga1 99y

Question Number : 77 Question Id : 630680634348 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
First Indian Fencer to Win Medal in Asian Championships
Options :
1. # Jyotika Dutta
2. # Ruchi Trikha
3. ¥ Taniksha Khatri
4. % Bhavani Devi



Question Number : 77 Question Id : 630680634348 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
E&mﬁ%ﬁm&mﬁw@aﬁaﬁuﬂ?ﬁuﬂ?ﬂawmemer) %I
Options :

1. % ST ol

2. % B A

3. % qfTspT @A

4. YT gat

Question Number : 78 Question Id : 630680634329 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India made a deal of how many Rafale Marine jets for Navy from France in the Year 2023?
Options :

1. ®¥ 15

2. % 24

3. %26

4. % 31

Question Number : 78 Question Id : 630680634329 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YRT A 7 2023 H T & A1 3 o fobam A1t 18 S 7 e fosam
Options :

1. % 15

2. %24

3.926

4. % 3]

Question Number : 79 Question Id : 630680634340 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ayushman Bharat - National Health Protection Mission has coverage of
Options :

1. # 1 lakh for each family

2. % 3 lakh for each family

3. % 4 lakh for each family

4. % 5 lakh for each family

Question Number : 79 Question Id : 630680634340 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SRS IR - TP TR YR e & HT Ha g |
Options :

1. ® U URAR & forg 1 g

2. % A% URAR & fofw 3 g

3. % U URAR o fo 4 A

4. ¥ U URAR & fo 5 o

Question Number : 80 Question Id : 630680634341 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following was the bottom ranked state in the 'State of India’s Environment 2023' report released by the "Centre for Science
and Environment CSE and Down to Earth" in terms of overall environmental performance ?

Note: For this question, discrepancy is found in question/answer.
Full Marks 1s being awarded to all candidates.

Options :

1. Rajasthan
2. Bihar

3. Gujarat

4. Tamil Nadu

Question Number : 80 Question Id : 630680634341 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
99 yafaruiia yexi & ded & 'dHer BRR ey U8 THaRRAHE CSE 3R S84 ¢ 31 gRT 9IR "HRd &1 gaiaRu fufa Rard 2023
o frgfafed 7 § H1F-91 I I e R R 9

Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
?ptlons :
2. f9BR

3. ORI
4. AfBQHTg

Question Number : 81 Question Id : 630680634332 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Indian National Movements happened in the year 1905?
Options :

1. ¥ Home Rule Movement

2. % Swadeshi Movement

3. ¥ Kheda Satyagraha

4. % Non-Cooperation Movement

Question Number : 81 Question Id : 630680634332 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFrafiRed & @ -9 YR AT stieier av 1905 H g3 um
Options :

1. % GH EA 3alad

2. ¢ AR 3iale

3. % WS qAUE

4. % 3G Sfiale

Question Number : 82 Question Id : 630680634333 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
was officially recognized as a classical language in India in 2008.

Options :
1. ® Tamil

2. ¥ Malayalam



3. # Sanskrit
4. % Telugu

Question Number : 82 Question Id : 630680634333 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BT 3MABTNG TR W 2008 H HRA H U UG HINT D =Y | A=A <1 718 |

Options :

1. * qfere

2. ® HAIAH
3. % YIpd
4. ¥ dq]

Question Number : 83 Question Id : 630680634354 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Montane Forests in India is found in which of the following regions?
Options :

1. ¥ Madhya Pradesh

2. ¥ southern slopes of the Himalayas

3. ¥ Haryana

4. % deltas of the Ganga

Question Number : 83 Question Id : 630680634354 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YRd # gdeita o Fafafed # 9§ fod &2 o ae Sird 82
Options :

1. % AL YS

2.  fgmTera &1 <féoh gam

3. % gimon

4. % T & STl

Question Number : 84 Question Id : 630680634345 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

A) A bicameral legislature makes it possible to have decisions of the house to be reconsidered.
B) Members of the Rajya Sabha are elected for a term of six years.

C) The Rajya Sabha is called the permanent House of the Parliament

Options :

1. ¥ Only A and B is true
2. % Only B and C is true
3. ¥ Only A and C is true
4. % A, B, C are true

Question Number : 84 Question Id : 630680634345 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafifed s R fER S

A) fegreia fauier, ga= & Fufhl R [AfdaR &3 Gyd s 2 |
B) YT HT & TR &8 I &1 3fafd & forg g o g

C) ISTTHT Y TS BT IR Y7 Hgl Sal g |

Options :



. % FAAA IR BIIG
2. % FAAB AR CII G
3. % $ad A SR C I
4. ¥ A, B,CHIE

Question Number : 85 Question Id : 630680634346 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When a flower can be divided into two equal radial halves in any radial plane passing through the centre, it is said to be
Options :

1. # zygomorphic

2. % actinomorphic

3. ¥ endomorphic

4. ¥ trimerous

Question Number : 85 Question Id : 630680634346 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
m?wﬁwéwmwmaﬁﬁawmwﬁﬁﬁuﬁamwm%ﬂsﬁ ol
SIGIN

Options :

1. ® STEHEIThS (zygomorphic)

2. ¢ UfgeAHithe (actinomorphic)

3. % U3 d (endomorphic)

4. % E’I’imw (trimerous)

Question Number : 86 Question Id : 630680634362 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Five friends V, W, X, Y, and Z are sitting in a row facing south. W sits to the immediate right of V, who sits to the immediate right of X. Z
sits second to the right of W. Who is sitting in the middle of the row?

Options :
1. ¥V
2. % X
3.9 W
4. ®Y

Question Number : 86 Question Id : 630680634362 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

org i v, W, X, Y 3R z &l fam &t ofR Siftiga gia U Ufdd B 93 §1 W, X & 3ld Tl 98 V & 31 G 9T 81 Z, W & g
AT R R 461 2| Ui & o & B do1 2

Options :

1. ¥V

2. % X

3.¥ W

4. ®Y

Question Number : 87 Question Id : 630680634363 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many symbols are there in the given series, which is immediately preceded by a vowel and immediately followed by a consonant?
PO%HVA*RTESSUTEWU#P&T@P



Options :
1. %3
2. %2
3.9 4
4. %5

Question Number : 87 Question Id : 630680634363 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS g # U fore Wellap &, oM 3l Ugel U TR SIR 31 a6 U oo g2
PO%HVA*RTESSUTEWU#P&T@P

Options :

1. %3

2. %2

3.¥4

4. % 5

Question Number : 88 Question Id : 630680634359 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following words in alphabetical order:
1. ROUND

2. READY

3. RIGHT

4. RIGID

5. ROUGH

Options :

1. ¥ 24351
2. % 23415
3. 923451
4. % 23541

Question Number : 88 Question Id : 630680634359 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafafea weal @ quidwd & sgafyd HifT:

1. ROUND

2. READY

3. RIGHT

4. RIGID

5. ROUGH

Options :

1. ¥ 24351
2. % 23415
3. 923451
4. ¥ 23541

Question Number : 89 Question Id : 630680634365 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Anu, Babita, and Mina are sisters. Kundan is the brother of Ishika and Ishika is the daughter of Babita. How is Kundan related to Anu?
Options :

1. # Son

2. % Brother

3. ® Sister's husband



4. % Sister's son

Question Number : 89 Question Id : 630680634365 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3, Satar 3R M1 58 &1 T, SRAPT BT UTS § 3R R, Faidr o1 Tl 81 Pra b1 317 I 1 ey 82
Options :

1. ¥ g7

2. % U5

3. % SISl (981 &1 Ufdl)

4. & YIS (S5 T EA)

Question Number : 90 Question Id : 630680634371 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four letter cluster pairs have been given, out of which three are alike in some manner and one is different. Select the odd letter cluster pair.
Options :

1. ¥ MH : KF

2. % QrR: 0P

3.9 NB: LA

4. % AP: YN

Question Number : 90 Question Id : 630680634371 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR &R TYg g fu e §, Rd I i forht e © UHad § SR U SR B 1 SR 31&R g i &1 99 Hifor|
Options :

1. ¥ MH : KF

2. % QrR: 0P

3.9 NB: LA

4. % AP: YN

Question Number : 91 Question Id : 630680634372 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the age of 5 students in a team is 22 years, 23 years, 25 years, 26 years, and 29 years, then find the average age of students in the team.
Options :

1. ¥ 23 years

2. % 29 years

3. % 25 years

4. % 20 years

Question Number : 91 Question Id : 630680634372 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

it A9 A 5 faanfial ot omg 22 9, 23 9, 25 I, 26 Y 3R 20 I B, A A9 A il ot ofrgd oy I BT
Options :

1. % 2399

2. %2079

3. ¢ 25a4

4. %20TY



Question Number : 92 Question Id : 630680634383 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The difference between simple and compound interest on a sum of ¥ 45,000 is X 162 for 2 years. Find the rate of interest.

Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :

1.0.04

2.0.03

3.0.05

4.0.06

Question Number : 92 Question Id : 630680634383 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
345,000 1 M TR 2 T F IYROT SATS 3R Aehqies STl BT SR 2162 § | TS &2 J1d DI

Note: For this question, discrepancy is found in question/answer.
Full Marks is being awarded to all candidates.

Options :
1. 0.04
2.0.03
3.0.05
4.0.06

Question Number : 93 Question Id : 630680634394 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The table given shows the number of bikes manufactured and the number of bikes sold by 5 different companies. Find
the total number of unsold bikes of companies A and B.

Total number
" £ bik Number of
e i bikes sold
manufactured
A 12000 8500
B 13400 2000
C 19200 15500
D 19900 16500
E 16700 11000
Options :
1. # 7600
2. % 7500
3. % 7800
4. % 7900

Question Number : 93 Question Id : 630680634394 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



& 7% ArfoiT H 5 HeWET-379 Futaal canr AffT s & g 3k 3= 712 st fr g A
geirar ar 1 e A 3T B @ o et amet & g wewr A e

Total number
5 Number of
Company of bikes bikes sold
manufactured
A 12000 2500
B 13400 9000
c 19200 15500
D 19900 16500
E 16700 11000

Company = @91, Total number of bikes manufactured = fffa agat #r Fer TEm,
Number of bikes sold = &= 31 &g & FEAT

Options :
1. % 7600
2. % 7500
3. % 7800
4. % 7900

Question Number : 94 Question Id : 630680634385 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the least number that should be added to 34586, so that the sum is exactly divisible by 9.
Options :

1. % 4

2.%3

3.%2

4.9 ]

Question Number : 94 Question Id : 630680634385 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IE I DI TBAT J1d HIOTT o 34586 T S TR ANTH 9 J guia: fqursa g1l
Options :

1. %4

2.%3

3.%2

4. ¥ 1

Question Number : 95 Question Id : 630680634386 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Product of two whole numbers is 4235 and their HCF is 11. Find the LCM.
Options :

1. % 385

2. % 355

3. % 365

4. ® 375



Question Number : 95 Question Id : 630680634386 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3l Ut TReATSH HT OIS 4235 8 IR ST HCF, 11 §1 LCM J1d S|
Options :

1. ¥ 385

2. % 355

3. ¥ 365

4. % 375

Question Number : 96 Question Id : 630680634377 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ranveer’s salary is 30% lower than Vikram’s salary, which is 10% lower than Mina’s salary. By how much percent is Ranveer’s salary less
than Mina’s salary?

Note: For this question, discrepancy is found in question/answer.
Full Marks 1s being awarded to all candidates.

Options :
1.0.33
2.0.41
3.043
4.0.37

Question Number : 96 Question Id : 630680634377 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

w@gwém,ﬁw%ém@m%am%ﬁwmaaﬁ,rﬁﬂﬁamﬁm%w%wﬁ?mém,nﬁm%émﬁﬁmﬁm
PHG?

Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :

1.0.33

2.041

3.0.43

4.0.37

Question Number : 97 Question Id : 630680634378 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person sold his camera for X 33,810 at a 15% profit. What price should he have sold it for to incur a loss of 20%?
Options :

1. ¥ 323,420

2. % 322,520

3. ¥%23,520

4. ¥ 321,420

Question Number : 97 Question Id : 630680634378 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :
TS o A ST HHR 15% TATH TR 33,810 H 971 T fbal SIAd H 997 TR I 20% B 8T grait?

Options :



1. % 323,420
2. % 322520
3.+ 323,520
4. % 321,420

Question Number : 98 Question Id : 630680634399 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratio of A’s salary to B’s was 6 : 5. A’s salary is increased by 20% and B’s by 10%, what is the ratio of their increased salaries?
Options :

1. ¥ 77:25

2. % 77:55

3.¥72:55

4. % 72:25

Question Number : 98 Question Id : 630680634399 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AP ITT BT, BB I J U 6: 5 UTI AP Id H 20% P IS &3 & 3R B F IaT | 10% P! IS g3 8, I 9¢ gU da-l T
3aTd faram 82

Options :

1. % 77:25

2. %7755

3.%72:55

4. % 72:25

Question Number : 99 Question Id : 630680634390 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A pump can fill a tank in 6 hours. Due to a leak in the tank, It takes 10 hours to fill the tank. In how many hours leak can empty the full
tank?

Options :

1. ¥ 15 hours
2. % 12 hours
3. ¥ 13 hours
4. # 10 hours

Question Number : 99 Question Id : 630680634390 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
wdu%w%aﬁé‘d%ﬁww%%ﬁﬁﬂwésw,%aﬁuﬁﬁ10*&%@1%%@0%%,&1116%%‘&%1?@1@@
Hhdl 52

Options :

1.¥ 154°¢

2. % 126¢

3.% 136¢

4. % 109C

Question Number : 100 Question Id : 630680634381 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A train covers a certain distance at a speed of 140 km/hr in 7 hours. Find the speed it will need to cover the same distance in 14 hours.
Options :



1. ¥ 60 km/hr
2. % 75 km/hr
3. % 70 km/hr
4. % 65 km/hr

Question Number : 100 Question Id : 630680634381 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP 7 140 km/hr B 1A F 7 6 T T Ff¥a g8 g axcll 81 981 gt 14 19 B a0 dA & foT 3f1axges 91a J1d Sifor|
Options :

1. % 60 km/hr

2. % 75 km/hr

3. % 70 km/hr

4. % 65 km/hr



